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Management by observation B. Management by exception C. Traditional goal setting D.

Management by objectives
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18. Which of the following would likely be found in mechanistic organizations?  A. wide span of control
B. empowered employees C. decentralized responsibility D. standardized job specialties

19. Differentiation as a strategy requires a firm to : A. aggressively search out efficiencies

to maintain the lowest cost structure B. be unique in its product offering C. aim at a cost advantage
in a niche market D. aim to be similar to its competition in all operations
20. If human resource planning shows a surplus of employees, management may want to reduce the

organization’s workforce through , A. recruitment B. decruitment

C. expansion D. jobbing




